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PART - A
GENERAL ENGLISH
(Marks : 25)

1-5 Read the passage carefully and mark the correct answers for the questions that follow:

NAVYA
MS

Of all the amusements which can possibly be imagined for a hard-working man, after his daily toil
there is nothing like reading an entertainment book. It calls for no bodily exertion, of which he has had
enough. It transports him to a livelier and more interesting scene; and while he enjoys himself there he
may forget the evils of the present moment. It gives him something to think of, besides the drudgery of
his everyday occupation. The taste for reading is a source of happiness and cheerfulness through life.

Selection of books is indeed a very essential and gratifying activity.

The passage is about:
(1) Amusement

(2) Occupation

(3) Reading

(4) Hardwork

For a hard-working man reading is a source of:

(1) Drudgery
(2» Entertainment
(3) Exertion

(4) Toil

Selection of books for reading is:

(1) A happy activity

(2) An important activity
(3r A gratifying activity
(4) A cheerful activity

Reading is considered as
(¥ An occupation

(2) Useless

(3) A transport

(4) An amusement

A hard-working man should read:

(1) An essential book
(2) An entertainment book
(3) An occupational book

(4) A Science book

[E.T.O.
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11.

12.
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Choose the sentence with appropriate articles:
(1) An Annual Report was read by Principal.

(2) The Annual Report was read by the Principal
(3) The Annual Report was read by a Principal.
(4) A Annual Report was read by a Principal.

Fill in the blanks with appropriate articles:

unusual feature of ———— book is that it can be used in intensive course for learners.
(1) the, a, an (24 an, the, an
(3) a, a, an (4) a, an, the

Fill in the blanks with appropriate prepositions:

Good always triumphs evil the long run.
(1y for, on (2) by, over
(3) over, in (4) above, by

Fill in the blanks with appropriate prepositions:

You must abide the rules the organisation if you want to work here.
(1) over, in (2) by, of
(3) with, by (4) for, in

Fill in the blank with an appropriate verb form.

marked absent.

(1) would have (2) will have been
(3) will have (4) will be

If you don't come in time, you

Fill in the blank with an appropriate verb form:

He said he look into the matter.
(1) may (2) would
{3‘} should (4) can

Choose the word spelt correctly:
(1) homogeneous (2) eliminated

(3) commissioner (4) proffessor
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14.

15.

16.

17.

18.

5
Choose a Synonym for the word underlined.
His abilities were useful rather than splendid.
(1) efforts (2) hard work
(3) genius (4) capacity
Fill in the blank with the most suitable word.
They gave her a big of flowers for her birthday.
(1) bunch (2) group
(3) bouquet (4) collection

Give the appropriate indirect speech form of the following sentences:
He said, ‘I go for a walk every morning.’

(1) He said he went for walk every morning.
(2) I went for walk every morning.
(3) I go for walk every moming.

(4) He said he goes for a walk every morning.

Choose the passive voice form of the following sentences:
The Servant washes our clothes.

(13 Ouwr clothes are washed by the Servant (2) The Servant washed their clothes.

(3) The Clothes are washed by the Servant. (4) The Servant was washed our clothes.

Choose the appropriate active voice form of the following sentences:
Mobile phones are sold in this shop.

(1) The shop sells mobile phones.

(2) This shop sells mobile phones.

(3) Mobile phones would be sold in this shop.

(4) This shop may sell mobile phones.

‘She is always too late to class’.

This sentence can be re-written as

(1) She is too late to class. (2) Sh._s is always late to class.
(3) She is always very late to class. (4) She is too late to class.

NAVYA
MS
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The soldiers fought very courageously.
This sentence can be re-written as:

(1) The soldiers fought greatly. (2) The soldiers fought greatly with courage
(3) The soldiers greatly fought with courage. (4) The soldiers fought with great courage.
“The guide asked the students not to touch the exhibits.”

The direct speech form of this sentence is

(1) ‘Please don’t touch the exhibits,” the guide said to the students.

(2) The guide said, ‘Don’t touch the exhibits.”

(3) The guide told the students ‘Don’t touch the exhibits.’

(4) The guide requested the students ‘Don’t touch the exhibits.’

Fill in the blanks with an appropriate phrase:

The machine and work had to be stopped.

(1) broke up (2) broke down (3) break up (4) broke off
The Principal thanked the staff and students with all his heart for their co-operation.
Substitute an adverb for the underlined part in the sentence:

() heartfully (2) full heartly (3) whole heartedly (4) full heart
Identify the grammatically acceptable sentence:

(1) My train arrives tomorrow. (2) Ouwr flight are delay

(3) She lives besides the temple. (4) You can hire a car at the airport.

Identify the grammatically acceptable sentence:

(1) The meeting took place at the Company’s headquarters.
(2) Do you know the bus is stopping?

(3) Mary fell down in the bicycle.

(4) Nobody saw me came in.

‘I have seen the Taj Mahal’.

This sentence can be re-written as:

(1) He saw the Taj Mabhal. (2) I saw the Taj Mahal.

(3) The Taj Mahal was seen by me. (4) I already saw the Taj Mabhal.
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PART-B
GENERAL KNOWLEDGE
(Marks : 25)

In which year was the First Battle of Panipat fought?

Soocsed UBER AEE50 eBAS HoSEES0

(1) 1526 A.D. (2) 1556 A.D. (3) 1605 A.D. (4) 1761 A.D.
1526 2.6 1556 2.¢. 1605 2.G. 1761 2.6.

Jawahar Lal Nehru declared “Poorna Swaraj ™ at

"oy o BoETd) eSirberd JET FREDIS HDES0

(1) Surat (1207) (2) Belgaum (1924)
2GS (1907) Berao (1924)

(3) Lahore (1929) (4) Kolkatta (1938)
=5 (1929) Koo (1938)

The word “Buddha™ means

"2 SRS egEn

(1) Conqueror (2) Liberator
DES DS0d Pors

i3) Wanderer (4) An enlightened one
3ESoTD 235300 JPoBITED

Name the longest train of India (Distance)
FOBEYE) e Srto Bairelod Suo 2t

(1) Jammu Tawi Express (2) Jammu Kanyakumari Express
23350087 J5YDR 223300y Krgtoisord D5y

(3) Himsagar Express (4) Vivek Express
FaonriS D540 D58 My

“Aishwarya Oil Field” is located in which State of India?
D 50080 erapeo (Aishwarya Oil Field) &2 @od oogot” &od

(1) Maharashtra (2) Gujarat
mg, Roeacrd

(3) Rajasthan (4) Andhra Pradesh
TPeeL eS0T

[PT.O.
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The Vice-Chairperson of “NITI Ayog of India” is
NITI (28) esBrh e g

(1) Aravind Panagaria (2) VV Saraswath
5ok ISTOAET D.D. FEHS

(3) Abdul Kalam (4) Rajnath Singh.
wepd Soro oErd boh

The present “Governor of Reserve Bank of India” is

RBI (Bezstiog ego§ e godolsr) (35:98 K5t

(1) Y V Reddy (2) Raghuram Rajan
2.2. 8¢ E5000°0 O°ese

(3) D Subba Rao (4) C Ranga Rajan
¢, B0emyors) 2, Solfores

In 2012, the “11th Conference of Biodiversity” was held in India, in the city....

2012 o1’ 5 3 950y 11 3 $Bqssins gPEsEH08’ & SKEoS” ebhod

(1) Delhi (2) Kolkatta
&b o5
(3) Chennai (4) Hyderabad

Dah rEorerd

“World Ozone Day™ is observed on....
903 £8°5 BT E5500 Der & §er 00T

(1) 16th September (2) 16th October
163 2uowb 165 e§wd

(3) 16th November (4) 16th December
163 535026 1635 Gaowb

10th December is observed worldwide as.....
&0 103 BED 5o Tgiorr B dor Jreddd

(1) Women Day (2) United Nations Day
S0 BT Sysaion ¥sOrezg DO B30
(3) Human Rights Day (4) Blindness Day

ST TE,© B30 904500 BT Sysso

NAVYA
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Identify the Country which is not a member of NSG (Nuclear Supply Group)
ai?ﬁcﬁrﬁ RE5000 Birnd” (NSG) 80 d4sw
(1) Russia (2) US.A.
S es53005
(3) France (4) Iran
&) 30°0

Who is the author of “The White Tiger™?
The White Tiger (& 3¢5 G16) Hn¥ G0

(1) Jhumpa Lahan (2) Paul Kruggmann
eroTreTd ord EhsrS

(3) Aravind Adiga (4) Arundhathi Roy
eSdob esdi e8ootsd orado

The Annual monetary Limit of “MPLADS” is rupees.....
2003 MPLADS oo 708 58208 Srarahed’

(1) 3 Crores (2) 4 Crores
3 E'ex 4 e

(3) 5 Crores (4) 6 Crores
5 S'ex 6 §'¢x)

The programme started by Telangana Government for revival of Tanks is
DPe DHIHCGOEE Beolrer EEdein PocHoDS SHES0

(1) Watergrid (2) Mission Kakatiya
Fe5RE 55 SEBAD

(3) Harithaharam (4) Jalayagnam
ORGS0 exocigo

The causative virus for “Swine-Flue” is

DR, THRSTE I

(1) H1Y1 - (2) H151

(3) HINI (4) HIMI

NAVYA
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TEACHING APTITUDE

Problem behaviour in a child is the symptom of
208" BIT G S5S SR

(1) memory
SR

(2) maladjustment
o rresaaan

(3) Restlessness

e @ oses
(4) Anger
£

If you make a mistake in the class, the most appropriate course of action would be to
AP BENBE” Sy ISJped
(1) forget the mistake

Brpiso So0DFPHe
(2) acknowledge the mistake

B0 25yE 60
(3) convince the students
domytigoss g
(4) ignore the mistake
ST DOREIE VS BT HEFFHe>

A student learns better if he is

DegR Dot enS et

(1) given strict coaching (2) taught in his mother tongue
PDS B> DY Sy £ QoDssyes

(3) punished for his errors (4) respected for his achievements
e985¢50 Do éﬁ;gpﬂaﬁ;: BOEoDNINE e TS0 KEDODSZed
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National Talent Search Exam is conducted by

3356 erBoed 50y S0F VG0
(1) UGC (2) NCERT
(3) AICTE (4) UPSC

Teachers first duty is to her

ETGraio (B0 S50
(1) students (2) community
D BIOE RHesTeerd
(3) subject (4) Principal
Oy BeTIE S Erergaindds
Mid-day meal scheme was introduced to
Sogrgm §'ess BEEo R0E R0 E3FTO
(1) Encourage attendance (2) create employment
083085 @FByrosaetH S8 Fymotiotstd
(3) Provide nutritious food (4) utilize local resources
TS e55°50 800Ut 8 55800 &SROt

The purpose of co-curricular activities in schools is to
FET S BT TEIETIE G

(1) enrich learning experience of students.
DGO B0 05O, edso Doty

(2) boost self-confidence among students.
TG0 BTGB HoTrofiotiaisd

(3) provide relief from academic work.
DEIgRIPEIS 000 €a3E50RN00 QOIS

(4) enhance competitive spirit of students.

Dorgsgos” el $o3T N DO

NAVYA
MS
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The most important task to be accomplished by a teacher is to
EEryOnety rPow ed Soggond
(1) maintain discipline in class.
SORGE” (550 35e Jredodo
(2) conduct examinations and give feedback.
S6ge0 DUETon, HOPY. o
(3) make students prepare assignments.
AT5E08 erondioey SArEEo0se0
(4) develop the skill of learning how to learn.
Jor egiuomrd ¢k g dodreboiitie

To handle eveteasing, what initial steps do you take
525 IR0t eBEGE"RE, N DRoKS Boassed By
(1) warn the girls.

370008 PHBoieo
(2) obtain a written complaint.

FS JroSor efario St
(3) counsel the trouble making boys.

&b weryonekd ST 0 auaeac
(4) take to Principals notice.

(ST ETrErgaiants S BRotdFSeo

The most important challenge before a teacher is to
GG gaioats 25000050 &0 Do0PGRIS FTred
(1) engage the class.
SORTD SE° Deages
(2) maintain discipline in the classroom.
550853 Jredoditoo
(3) make teaching learning process enjoyable.
SG efighd HEah eletordbio Soieo
(4) conduct examination.
26500 VBTroDe

NAVYA
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PART - C
MATHEMATICS
(Marks : 100)

51. A subset of R which is both open and closed
5035y S0Ba0 DgyS DA ecly TS Sogrpdbd R dlol), 45508

(1) Q (2) 2 (3) RQ 4) ¢
b
52. If f € R [a, b] and ¢ is primitive of f then [ f(x)dx=
d b
£ ook, S0 ¢ 550050 f € R [a, b wond [ f(x) dx =
(1) ¢ (a) - ¢ () (2) ¢(b)-¢(a) (3) ¢(@+¢(b) 4) ¢(a) -9 (D)

53. ¢ value of Cauchy’s Mean Value theorem for f(x) = sin x, g (x) = cos x on [1, 3]
f(x)=sinx, g (x) = cos x ©55 [1, 3] ﬁmﬁﬁa@ E“qéﬁamwﬁ;bn;o@@cﬂm;ﬁ
(1) 1 (2) 2 (3) 3 (4) 4

54. A sequence of real numbers converges if and only, if it is
2.8 TR Hogly exd|Eaioo esd)i500uEe 2555 SomgD el

(1) a motomic sequence (2) a convergent sequence
2.5 DEOFH eS80 2.5 e98):5003 exsoEsioo

(3) a Cauchy sequence (4) a bounded sequence
2.5 8" esxoEsoo 2.5 5026 eXoES00

55. The series ¥ pe " is

zne_"z o3 @

(1) convergent (2) absolutely convergent
8505000 POYPL RS0 Dokorsd

(3) conditionally convergent (4) divergent

(P.T..
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Reimann integral 1s a
8370 H3rseN &5

(1)

(3)

The set of limit points of a bounded sequence is

Definite integral
Sy $BrEed

Both 1 and 2
_15&3&{111:2

2.5 5086 GBES0 G0, @36 Dotiope S\

(1) Unbounded
30wk
(3) Not necessarily bounded
2083650 SPHSHS0 B
. sinax
lim — =
x — 0 sin bx
a b
m 5 @ -
Which of the following series is convergent?
BIDS cndedss Tl edisdon [@el
n+] 4\"
W E== @) Z[g]

(2)

4)

(2)

(4)

3)

3)

x’sin— , ifx20
If f(x)= X thenat x =0, fis

0 , ifx=0

x*sin— , ifx#0
X
J@W=1 0 , ifx=0ec08x=03Gf

(1)

3)

continuous and differentiable
SN0 Sodalis eS¥odabo

neither continuous nor differentiable
DSye SoDak sS%ondbo 52

@)

(4)

NAVYA
MS

Indefinite integral
SDBS S5

Neither 1 nor 2
1 50000 2 28 =

Bounded
Soado
Meither bounded nor unbounded
:.’ﬁaa-gc- 2050 Sodan es;‘)&ﬁgr:: )
a® 4) b
n
sSin| — 4 R L

_ [ ) ) ZJH+]

continuous and not differentiable
DTS 50 esSSedaio S

none
08 =60
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I{x]dx =

U
(1) 182 (2) 44 (3) Bl (4) 91

If A and B are two equivalent matrices then

A, B & Bot Soog S @ises eond
(1) p(A)<p(B) (2) p(A)>p(B) (3) p(A)=p(B) (4) none

D8 seiso

The value of (i)* is
()% deos
(1) e 2) ¢ ™2 (3) &= 4) e ™

-2a a+b a+c

If A=|lb+a -=-2b b+c|=Kiia+ b) (b + ) (c + a) then the value of K =
c+a c+b -2¢c

—-2a a+b a+c
A=|b+a -2b b+c|=Kla+b)(b+c)(c+a)=and Kdoos =

c+a c+b -2c
(1) 1 2) 2 (3) 4 (4) 3
1 2 0
The rank of the matrix A= {0 3 4/ is
2 - 0 0 3
B 2 0 = =
A=10 3 4|edImBs Doy, S
0 0 3]
(1 1 (2) 2 (3) 3 (4) 4

[P.T.O.
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If the characteristic roots of the matrix A are zero, then A 1s
A &3 S7EE GBoo%, TEEE SoTreres Koy 60008 e A o8

(1) singular matrix (2) non-singular matrix
SO STHE FOe SFBE

(3) diagonal matnx (4) symmetric matrx
5g SPBs TS STBE

The degree of the minimal polynomial of a scalar matrix of order n = 2 1s
.5 n S SONG edF SBE s, SR BTUI0 ITd0w

(1) 0 2 1 3) 2 (4) 1or2
1 8o 2
The non-zero nilpotent matrix cannot be similar to a
2.8 Er3s #rs STBE 3od 738’ B8 HETBI S
(1) square matrix (2) diagonal matrix  (3) scalar matrix (4) zero matrix
SBER STHE DY SO 0T STOE Sy S
The minimal polynomial of the idempotent matrix is
¥ 300 3¢S (ntGodrio) ) SHE Ao, SIH TS0
(1) »* @ A+ @) -1 @) A2-2
Let I, be an identity matrix of the order n, then
[, 35058 n S SEKS STy SrOE eond
(1) adjl,=1I, (2) adjl, =0 (3) adj I, = nl, (4) none of these.
28 o
If A is any square matrix the A + A®, AA® A®A are all
A 2% SSo8E 3B sond A +AP% AA® APA o sr@se

(1) Symmetric (2) Hermitian (3) Skew Hermitian (4) Skew Symumetric

o abpaciion 3, 5 ORI e
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72.
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74,
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76.
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1 1
The value of _[ j{xz +y2}drdy is
00

1 1
[ J(x* +y?)dedy Deos
a0

(1) 1 (2) 0

(3) 1/3

(4) 2/3

The value of the integral Il xy dx dy taken over the region bounded by the two axes and the straight

linex + y=1

DETSE een 3o0ako x + y = 1 pd 308500008 @rossop [f xy dx dy eos

(1) 1/20 (2) 1/24 (3) 1/30 (4) 1/40
The value of ‘?1[%] if 7 =xi + yj + zk is
Fo=xi+yj + zk s00d ?1[*}] e
(1) O (2) 3x (3) 2x 4) 3(x+y+2)
Ify=¢e* then % =
y=e* wand g =
(1) € logx 2) a*loga (3) € -a*loga (4) €& -
1 2 ¥
The value of I r exdxdy is
0 0
1 x2 ¥

I e*dx dy Dess
0 O
1) 1/8 @) 173 G) 112 @) 0
a b
I Idxd} is equal to
S
T[22 2055
[
(1) (I/na) (/nb) (2) /n(ab) (3) In(ab) (4) Ina + Inb

[P.T.O.
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b
[+ y?)dsdy is

Zf
]

0
b
[o? + y?)dxdy Dos
0

I
() 3 (ab) (@ + %) (2) '21' (ab) (a* + b7
1
(3) 3 (@) (@ -b) (4) % (ab) (@ - b%)
Lz I:ms (x+y)dxdyis
L2
f I:ms{.t+y]¢fn:.ﬁi L
2
(1) 2 (2) -2 (3) 0 (4) 1

If R is the region bounded by x =0, y= 0,x + y = 1 the [[. (x?+?)dxdy is
x=ﬂ,y=ﬂ,x+y=lﬁ33m3mumﬁ@‘oéuﬂm HR (x* + y%) dxdy Dess
(1) 173 2) 1/5 (3) 1/6 (4) 1/12

If  is a constant vector then the value of grad (G- 7) is

@ o8 RO SO¥ wonsS grad (@ 7) deos

(1) r (2) a (3) 0 (4) none
o8 &0

If r® 7 is a solenoidal vector then the value of n =
rU P 38 D0arond S6¥ esond n =

(1) -1 (2 -2 ) -3 (4) —4
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If 7 =xi +y +zkthend 7.dF
r ;xf+_}3'+zkm¢ r-dr

(1) 0 (2) r (3) x (4) none

D8 s
The directional derivative of f= x’yz + 4xz* at (1, — 2, — 1) in the direction 2i — j — 2k is
2i - j — 2k &3 5605% &¥E° (1,- 2, - 1) &3 Dotsoxh 3¢ f= xlyz + dxz” Bk, BB H$y9yo
(1) 37/3 (2) 1413 (3) 2873 (4) None

28 s

The greatest value of directional derivative of x? + yz° at (2, — 1, 1) is
07+ (2, 1, 1) 3 KRB HBySo

(M 2411 2) 219 3) ¥ 4 Vo

The value uf@ (cos x sin y — xy)dx + sin x cos y dy where C is the circle x* + yz =1is
C

X +y =163 580 ‘C’ 2§ (cosxsin y - xy)dx +sinxcosy dy Deos
C

(1) 1 2) =1 (3) 0 (4) None
28 e

If two dice are thrown simultaneously, then the probability of getting a total of 9 is
Sodh FDEd 6.5 370 508 Tredp Ioodo 9 SUneotd HSogrigd

o | oo

4 3 1
M 3 @ 3 By )

If IZL e dx = f(x)+c then f(x) =
121. e’ dx = f(x)+c sond f(x)=

51.1 2 2

51 e 5¢* e’
(1) * @ = QY = @ %

. [P.T..
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89. The value of jF-Nds where F = yzi + zxj + xyk and S is the surface of the sphere
S

e+ +2=1is
SeSs 2 +)P +22 =1 &b R &5080D 5008 [F-Nds dood F = yzi + 23 + xpk ©00590
5

(1) 0 @ 1 (3) 1/8 @) 1/5

90. If (a, — 6), (- 4, b) are the end points of a diameter of the circle x° +y? - 6x - 8p=124=0,
then b —a ¢

(a, —6), (- 4, b) o TgrTeo™ 595 5B ShESe0 X2 + ¥ —6x — 8y — 124 = 0 wad b — a Jess

(1) 1 (2) 2 (3) 3 4 4
91. The Stokes theorem relates ————— integral to surface integral.
FE hrossn 35080 S537EeD BUE Sowodsdosd. :
(1) Line integral (2) Surface integral (3) Volume integral (4) None
BPaky SSTEOR Sa08dah HErted | oS BIrted 08 s8o

02. The solution uf’{n}-z + 1) dx + [.rz_}r +1)dy =015
(P + 1) dx + (2 + 1) dy = 0 B, TS

(1) 2 +2e 427 =C @ 2P +2+2P=C
3) HP+x+y=C @) 22 +2+2=C
. d.]'? =y 1 =y
93. The solution -::t"&-;:—=e +Xx'e
o o bnte” @y >
dx p POS

1 |
Q= ke @) Xm0 E %

{3)e¥=;—r"+e*+c (4) e"'=%x3+e'“+c
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. An integrating factor of the differential equation (xy + 1) ydx + (xy — 1) xdy = 0.
(v + 1) ydx + (xy — 1) xdy = 0 &3 es5303 S50 £ 35rtes s

1
(1) xy (2) E (3) wx (4) xiy

. With Cy and C, as arbitrary constants the general solution of the differential equation (D* - 1)y = x*
(D? - 1)y = x* &3 953503 SEEY Vs FES (C, C, 0 APyns Horos'en)
¥

(1) y=Cie* + Cpe™ - ¥ (2) y=Cie* + Cye™ + (& +2)
(3) y=Cie* + Coe* -2 @) y=Cie* + Coe ™ = 3% +2)

. The particular integral :r'.-f{[}2 +1)y=¢"is
(D2 + 1) y = ¢ * @Y, B8 S5rsed
(1) (1/4 - x2) e * (2) (/4a+x2)e ™ (3) (1/2)e ™ 4 (-1/D)e*

. The differential equation which is linear is
B3 oogedss Te38° BDAk ez $A0Ecee

{]] i_y-l-_l' I-z "Siﬂ_‘-' (2} %_IE_}’_SIHJ
dy . d

(3) {1+f}—}+smx=ﬂ (4) _-]'],+},[:P+I}=II
dx dr

. An LF. of the differential equation (1 — %) i —xy=1is

(1 —xz} = ] &5 es8e [anESeTRS X Harses nto
- 3 SV,
(1) -x @ -3 (3) J(a-x°) “ 3 og (1-x7)

. Pdx + x sin y dy = 0 1s an exact differential equation then P =
Pdx + x sin y dy = 0 638 .5 GHEPY eS80 HE0n0 sowd P =

(1) sin y + cos y (2) -siny (3) x% —cosy (4) cosy

[P.T.O.



100.

101.

102.

103.

104,

105.

NAVYA
MS

- 22

The orthogonal trajectories of the family of curves r = a (1 — cos 0) where a is a parameter is
a HP0Bm 595 r=a (1 - cos 0) &3 SE" $e0erhd vor HoPTey

(1) r=c (1 - cos 0) (2) r=2/(1 —cos 6)
(3) r=¢c (1 +cosB) (4) r=2/1 + cos 0)

The orthogonal trajectories of the family of circles x* + y* + 2gx + ¢ = 0 is
X2 +yt 4 2gx + ¢ = 0 &3 SyEre Hexoerdd 00w SoPoRed

(1) 2+ + 7 @ Z+y+2+tc=0
G) Z-yV+2fp-c=0 4) 2+y* =0
Particular integral of the differential equation {IZ'.l2 + D - 6) y = x where ﬂzi-
(D? + D - 6) y = x &53 55803 SQ0ECeTRS (388 B5rted (35,6 D!i)
-(6x+1)
(1) 6x+1 (2) —6x+1 (3) 6x M) et
The general solution of (?D? +xD - 1)y =0is
(ZD? +xD ~ 1) y = 0 G0y, FGSes TGS
(1) ce —cpe™* @) cpx +ex? (B) e+ (@) e+

The particular solution of (D* + a”) y = tan ax is y = A cos ax + B sin ax then B is
(D? + a?) y = tan ax G3o%, (58 FGS y = A cos ax + B sin ax sonsS B =

il s - l =
——C0Sax 2 - CO0S dx —— 3l ax 4 —— SN dX
Ol @ = ® = @ -

General solution of (ZD? —xD +2) y =0 is
(x*D? - xD + 2) y = 0 Gool, G TGS

(1) y = (c; cos (log x) — ¢ sin (log x)) (2) v =x(c; cos (log x) + ¢> sin (log x))

(3) y=x((c; + c3x) cos (log x) + sin (log x)) (4) y =x ((c] + c3x) cos (log x) - sin (log x))
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1
106. The value of Ems x is

1
E?msxcﬁnﬁbm

(1) sinx (2) secx (3) —sinx (4) cosx

107. The particular solution of (D? + 1) y = cosec x is
(D2 + 1) y = cosec x 0%, ($BsE TGS
(1) —x cos x —sin x log | sin x | (2) x cos x — sin x log | sin x |
(3) x cos x + sin x log | sin x | (4) - x cos x + sin x log | sin x |
108. If we arrange the letters of the word ‘SLATE’ in dictionary order, then the rank of it is
‘SLATE’® &3 5o &9 eioross Dot 53508 6500yseh ovd 8% (o)
(1) 86 (2) 84 (3) 83 (4) 76

109. Any two non-parallel and non-intersecting lines are called

S Poistsn 520 SoBakn PodosofR ¥ Spos — es0eT°50.
(1) Collinear (2) Skew lines (3) Concurrent line (4) None
$0Posres R3eS oo oy Bpoo D8 s

110. The distance between the points (- 1, 0, 6) and (5, 3, 0) is
(- 1, 0, 6) SoBaiw (5, 3, 0) &3 HolaPho oGy 8700

(1) 10 (2) 8 3) 2 (4) 9
_ﬂ —_— -
111. ’I‘hre:«:n::-r.v:litiunrnﬂmtthn:liﬂu\':MJr ='ymﬁ=znT is normal to the plane ax + by + cz = d is
r—!a "= y;ﬁ— 2T aﬁﬁmax+by+a=d&3w:ﬂmmmﬁénm
LR i BB gy Bl o Lol
D 755%™ @ 27¢7h ) 773" D im

[P.T.O.
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Radiusnfmesphmx2+y2+z"=ax+by+czis
2+ 2+ 28 = ax + by + cz &3 K& ggo

2 g yoed 2 SRR 2 F S
a +b" +c +b“ +c a - +b" +c at+b+c
i) == @ 3) J @ —

The.section of a sphere by a plane through its centre is called

DB Dy 2.8 Boo ef'Y Soio OO POGODIT IS

(1) Circle (2) Semi-circle (3) Great circle (4) Line
Sydo egsndo rodoSyio Op

The direction cosines of the line joining (1, 1, 0) and (0, 0, — 1) are
(1, 1, 0), (0, 0, — 1) &5 DotaPess 50 Sp oy, 68 Spoen

o (555 o~ (%)
o+ (5 5%) o (%%

.r-l};+ =a%, x + y + z = a together represents
Py +t=a? 3bafux +y +z =a doahufor SrDoSS0

(1) A circle (2) A sphere (3) A great circle (4) Ellipse
e Syifasoo 2.8 R'do 2.5 108 S0 &S0

The equation of the plane through the intersection of the planes y + z =4 and z + x = 5 and passing
through (0, 1, 3) is

pz=450000 2+ x =5 & dere S0 K05 0B (0, 1, 3) 6 Do) Moy $o SESn0

() v+z+4=0 (2) y-z+4=10

(3) —~y+z+4-= 4 y+tz-4=0
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The spheres x* + y* + z* = 25 and x* + y2 + 22 — 24x — 40y — 18z + 225 = 0
P+ + =252+ )2 + 22— 24x - 40y - 18z + 225 = 0 &5 Rwrens

(1) Touch intemnally (2) Does not touch
Lodlom By yeothE oercw ﬁmﬁam?@

(3) Touch externally (4) Touch orthogonally
Ao 5 yBoioE oerons ©oeEo BoET N

The distance between the planes x + 2y + 2z + 7=0and x + 2y + 2z + 3 = 0 is
Xx+2y+2z+7=0308050x+2p+ 2z + 3 =0 &3 Soro Sogi; 570

(1) 473 (2) 3/4 (3) 1/4 (4) 4

Th-:uentrenfthesphererz+yz+zz+2x+4y—~ﬁz+ﬂ=ﬂis
P+t 2 -2+ 4y - 62+ 8 =0 &3 ¥ Soo

(1) (1,-2,3) (2) (-1,2,-3) 3)-1,-2,-3) @ (1,23)

) ‘ x=3 yv=-5 z-=-7 x+1 yv+1 :z+I
The shortest distance between the straight lines l S T ——?----a_—.--:ﬁ...= = &

x-3 y-5§ 2-7 I rel v+l _ z+1 -
Ty T T S0aS e = &3 HOF Do Bogis SR ErSo
() 29 (2) 229 (3) 3429 (4) 429
_ : . X y=2 z2-3 ,
I'he foot of the perpendicular from P (3, - 1, 11) to the line EI' 3 = q s
x y=2 z=3
P{S,—I,]l}uﬂi}o{‘i}@3}5= 5~ g Opp ooe PESD
(1) (0,2, 3) (2) (2,3, 4) (3) (2,5, 7) (4) (1, 4, 3)
The angle between the lines whose direction ratios are 1, 1,2 and /3 = 1,-./3 - 1, 1 is
L1L,2 3 - 1,-3 = 1,1 0% &8 Diysioeorr 583 Spe Sogis S'ero
(1) 30 (2) 40 (3) 90 (4) 60

=

(P.T.O.
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if (v3+i)’= A (V3 +i) then the value of A =

(V3+i)'= A (V3 +i) sonsS A 2003

(1) 54 (2) 46 (3) - 64 (4) 64

The angle between the planes 3x —4y + 5z2=0,2x -y -2z=35is

3x—4y+52=0,2c—y -2z =5 & Sero 3055 S'eso

(1) n/4 (2) w3 (3) w2 (4) /6

If ay, by, ¢; and a,, by, ¢, are the direction ratios of the lines which are parallel then

ay, by, €}, @, by, €, > Both 337088 Speo OF DiyHigeiss SrdY

(1) ay=ay, by =by,c; =2 (2) ailay = by/by = cylcz

(3) ajaz + biba + c1jc2 =0 (4) ax/ay, by/bs, calcy

x(x—a)+y(y-b)+z(z-c)=0is

x(x-a)+y(y—-b)+z(z-¢c)=0 030

(1) Sphere (2) Plane (3) Circle (4) Pair of lines
Ao &S00 B 365 Sgre aboifo

'Ihconlynnelimitingpuintnftheequaﬁnnrl+y2+z2=ﬂ'is
2+t + 22 = 0 & 505 DBE 38 Hoto)

(1y (1,1, 1) (2) (1,1,0) (3) (1,0,0) (4) (0,0,0)
The number of ideals of a field F is

F &30 .8 §fo wand ol o Sops

(1) 2 (2) 1 3) 4 (4) o

eano0dsado0

An integral domain D is of finite characteristic, if Va e D, there exist m a positive integer such that
D 3 $rgos 388 ogeito 50o 38308 38 a € D 5% m &3 $IYY Sopg Eod orr

e

(1) ma=1 (2) ma=20 (3) ma=a (4) ma=0
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If I is a ideal in ring R then
R &3 Sochos’ | X e60,0 eand
(1) R.11s aring (2) Rlis anng

R/l .8 Scgdio RI 2.5 Sedlo
(3) R+11sanng (4) none

R+ 125 Sedie 08 5o

A commutative ring R with unity is called integral domain if Va, b € R
B3y 328 DVS>ah Seco R &8 Prgos 33¥0 3G 08 38 a, b € R 5%

(1) ab=0=a#0,b#0 (2) ab=0=>a=0,b=0
(3) al=0=a=5b (4) none
2855

If the ring R is an integral domain then

R 2.5 Srcrol (58¥0 eond

(1) R [x] is an integral domain (2) R [x] in not an integral domain
R [x] 2.8 Jycos (3% R [x] ol (@3G¥o o

(3) R [x]is a field (4) R [x] is a commutative ring
R [x] =¥ Sc R [x] &.& 2S00k Sedho

Every finite field must be a ——— order.

(58 SO Bz SONS

(1) Composite number *(2) Prime number (3) 1 and 2 (4) None
Sl Sogs S Doy 1 Sobalfn 2 bseo

Every non-zero homomorphism from a field F into a Ring R is
F &5 850 5009 R &3 Soairdd dod (58 rSgsd S50

(1) Onto (2) One-one (3) 1and2 (4) Neither 1 nor 2
Soytse e53c50 1 SoBa%w 2 1 So8af 2 28 e

[P.T..
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The quotient i —Q[iisisnmurphictu
€q Enmgc:.rl—B}
Qx
Degri Seako :‘1{—1;33&5%&@55?:55
X -

(1) Q (2) Q(43) (3) R (4) C

The number of generators of a cyclic group of order 24 is
24 SEROM Ko SE0DH DITTP) LSE JurosTe SoPs

(1) 6 (2) 8 (3) 10 4) 12
If G is a finite group, then for every a € G the order of a 1s
G 2.5 56208 $Soro 3080w a € G @08 a k), S6KD

(1) Finite (2) Infinite (3) Zero @) 2
50050 5080 3038

A group G is said to be simple if it has
S5m0 G S5 HSoTro STBH0e]

(1) Proper subgroup (2) No proper subgroup
B GIDJTT0 aoG® Hé§ EIVSTFT0 GOCETES)
(3) Proper normal subgroup (4) No proper normal sub group
0 udoon &lSSuriro Goamd 4 oo &HSurTre aolErasy

The order of the smallest non-abelian group is
DG $30TT0 B0k, SVHSSKE

(1 3 (2) 6 (3) 7 4 4
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Every finite group G is isomorphic to
38 308 370 BV BougtiHo
(1) Permutation group (2) Cyclic group
BFE H307r0 Sdah $SarSo
(3) Abelian group (4) Non-abelian group
DDBo0k> Moo VGBS HSoTT0
The inverse of an even permutation is
DB B0 FPEPH V6’00
(1) Odd permutation (2) Even permutation
80 Hrso 38 Prso
(3) Neither odd or even (4) None of these
B SoBaifo 58 BFFTo DB S 28 5o
Any subgroup of index ——— is a normal subgroup.

NS0 EsssarTro efoo ekl SENERE SrRE Jeud
(1 0 (2) 1 3) 2 (4) 3

If H is a subgroup of a group of order 20 then the order of H cannot be
20 SEKBIT Ko ST D8 H o8 AS557:5r0 60008 $odmme3s’ H ik, 8658 &otaE Jeodddd
(1) 4 ) 5 (3) 15 (4) 20

Let G be a group of order 30 and 0 (a) = 10 then 0 ()
S80S0 G @k, $SKE 30 3508050 0 (@) = 10 @003 0 (¢°) =

(1) 2 (2) 5 (3) 10 4) 3

IfG={1,W, W2 .. ...........W" 1} and W™ = 1, then the inverse of W" in the group (G ) is
G={1,W,W2, . ... W1} 50000 W =1 a3 (G, ) 88a7red’ W' Gooty, 28500
(1) WT 2}y W=t (3) w" (4) w-°

- (P.TO.
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G, 1s a group of order 40 and G, is a group of order 63 and f/: G; — G, is a homomorphism then
G, &3 SS0TD) SONO 40 080K G, SHTIY SO 63 S000K0 [ G| = G, &8 SIErSS eansS

(1) the kernel must be order 20 and image of order 3
&oﬁ;&é} SENE 20 Soban (HHEoey) SGND 3

(2) the kemmel must be order 2 and image of order 21
©OdRY SONS 2 Sobakn (Pddowd BGKE 21

(3) the kernel must be order 40 and image of order 1
ﬂaﬁ%mm4ﬂmm@m1

(4) the kernel must be order 4 and image of order 7
Sodi5H) SONS 4 300K (BDOLY SSHB 7

Let G=(Rs, ), G = (R, +) and $:G — G is defined by ¢ (x) = logjox V x € G then ¢ is
G=(R,), G =(R,+) S00a» ¢:G - G ¢ (x)=log, xVxe Gmr 5 ¢ 28

(1) Homomorphism (2) Monomorphism (3) Isomorphism (4) All

ST SIS S005ETES Tleriby
The number of units in Z [i]
Z [i] & ahrdel Soreste Sops
(1) 2 (2) 4 (3) 5 (4) 6

The order of the alternating group As on 5 symbols is
5 508070 ALIONBES ISoBY HIoTIro Ag Bk, SOHS

(1) 60 2) 30 (3) 120 @) 5

. X—smx
Iim =

x>0 _:c3

1 1 1 1
W% @ 3 G) 3 @
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